
Sèrie 1 

Primera part

Exercici 1
Q1  a Q2  c Q3  a Q4  a Q5  d

Exercici 2

a)  3 1 2 70 VV U U= − =

b)  31
1

2 3
20 AVUI

R R
= + =

c)  1
1 1

1
25 AUI I

R
′ = + =

d)  '
3 3 70 VV V= =

e)  1 1 1 2500 WP U I ′= = ;  3
2 2

3
300 WVP U

R
= − = −

OPCIÓ A

Exercici 3

a) 
1

22  UX
I

= = Ω

b) 
3

11 UR
I

= = Ω

c) 2 2
2 1 3 22,36 AI I I= + =

d) 3

2
cos 0,8944  (inductiu)I

I
ϕ = =

Exercici 4

a)  10 AP V I I= ⇒ = ;  2 2
2

10 A 3,333 mm 4 mm
3 A/mm

S S= = ⇒ =

b) 0,4465 LR
S

= ρ = Ω ;  %
0,8100 100 14,88%U R Iu

U U
∆∆ = = =
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OPCIÓ B

Exercici 3

a) 127,02 V
3

UV = = ;  31,75 As
R

VI
R

= = ;  12,70 As
C

UI
X

= = ; 2 2
1 34,2 AR CI I I= + =

b) 2 0 A   (equil.)I =

c) ϕ = =
1

cos  0,9285RI
I

  (capacitiu)

d) 
2

3 12,1 kWsVP
R

= = ;  
2

3 4,84 kVArsVQ
X

= = ;  2 2 13,03 kVAS P Q= + =

Exercici 4

a) e 500 WN NP U I= = ;  N

e
  100 80%P

P
η = =

b) 1 rad1600 min 167,6 
s

−ω = = ;  N 2,387 NmPΓ = =
ω

c)  0,9550 V·sK I KΓ = ⇒ = ;  160 VE K= ω =

d)  16 N NU R I E R= + ⇒ = Ω
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